
Find the exact value of the following:

𝑐𝑜𝑠15௢ =
𝑠𝑖𝑛75௢ =

cos ቀ
஠

ଵଶ
⎯⎯ቁ= 𝑠𝑖𝑛−15௢=

Expand:

sin (𝑥 +
π

3
⎯⎯)

sin (𝑥 − π)

cos (𝑥 +
π

6
⎯⎯) cos (𝑥 +

π

4
⎯⎯)

𝑐𝑠𝑐15଴ cos ൬
7𝜋

12
⎯⎯⎯൰ =
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Simplify to a single trigonometric identity:

𝑐𝑜𝑠𝐵 𝑐𝑜𝑠3𝐵 − 𝑠𝑖𝑛𝐵 𝑠𝑖𝑛3𝐵

Find the exact value of: 

sin ቆ
11𝜋

12
⎯⎯⎯⎯ቇ cos ቀ

π

12
⎯⎯⎯ቁ − cos ቆ

11𝜋

12
⎯⎯⎯⎯ቇ sin ቀ

π

12
⎯⎯⎯ቁ

𝑐𝑜𝑠2𝑥 𝑐𝑜𝑠𝑥 + 𝑠𝑖𝑛2𝑥 𝑠𝑖𝑛𝑥 𝑠𝑖𝑛3𝑥 𝑐𝑜𝑠𝑥 − 𝑐𝑜𝑠3𝑥 𝑠𝑖𝑛𝑥

𝑠𝑖𝑛𝐴 𝑐𝑜𝑠2𝐴 + 𝑐𝑜𝑠𝐴 𝑠𝑖𝑛2𝐴

cos ቀ
𝜋

3
⎯⎯ቁ cos ቀ

𝜋

6
⎯⎯ቁ + sin ቀ

𝜋

3
⎯⎯ቁ sin ቀ

π

6
⎯⎯ቁ
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